Organic Chemistry 11 (CHEM 442) Fall 15 Dr. Hahn's Class MWF 12 noon Quiz | form A Exam #
Sign Name K p/é/\, ' Print Name 5‘-) / ;

L

o

Please show work on all qlestions for partial credit even on questions which do not specify. (25 pts)

la. For the element In  show lec{g@menﬁgmgtlon for all wm

... ch ts total)

/

<wv§?;ﬁ§¢,, )y 59% 797

b. o1 the same element, show ﬂ%‘Mmﬁon erbi
{ _LL 4 ete} using up and down arrows to represent electrons.

I A

C. For the same element, how many valence electrons is in théfatom ? _5

Fa

2. In the mg‘ec@lgv below, match the? fu@:—ﬁgnal group name from the list by filling in the pal'ermﬁls witi
one of the letters listed. {a)alkene (b)alkyne ({c)arene (d)alkyl halide (e)alcohol (f)ether (g)
amine  (h)aldehyde (i) ketone  (j)carboxylicacid = (k)ester - {)amide (mjacid halide (m)
acid anhydride (You may | the letters or none of the letters and may use the same letter multiple times) {2
pts each, 4 pts total) f

(£

3. Label the following energy diagram with one of the matching letters. (a) reactant (b) product (c)
transition state (d) intermediate  (You may use all the letters or none of the letters and may use the same leiter

~ multiple times) (2 pts each, 4 pts tital)/l?'/@

(@) —

4, Complete the following reaction mechanism: Electrophilic addition of H Cl to afkene. Show
correct Lewis Dot structures & eleéctron pushing arrows. 3 D drawings not needed (11 pts)

lf%K.

Extra Credit:  Give the transition state of the Sx2 reaction mechanism for the reaction shown._ (2 pts)




Organic Chemistry [1 (CHEM 442) Fall 15 Dr. Hahn's Class MWF 12 noon Quiz [ form B Exam #
i
Sign Name AN . Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 pts)
la. For the element Ge  show the electron conﬁguraucm for all valence electrons in the forrnat 152, 2%,
n bl . E‘ Q 2 7 2-
: ' 7
. , / 5 J y %ﬁb

b. w fhe valence electron configuration orbital diagram in the format:

(Al A ete) using up and down arrows to re
4 (GriA)

2. In the molecule below, match the functional group name from the list by filling in the parenthesis with

one of the letiers listed. (a)altkene (b)alkyne (c)arene (d)alkyl halide (e)aleoho! (fether (g)
amine  (h)aldehyde (i)ketone  (j)carboxylicacid (k)ester  ()amide  (m)acidhalide  (n)

C. For the same element, how many valence ¢l8

acid anhydride (¥ou ma all the letters or none of the letters and may use the same letter multiple times) (2
pts each, 4 pts tm%/k
3. Label the following energy diagram with one of the matching letters.  (a) reactant  (b) product {(c)

transition state (d) intermediate (You may use all the letters or none of the letters and may use the same letter

multiple times) (2 pts each, 4 pts total) \ f\( C{i
& \:’

4. Complete the following reaction mechamsg El {Ehmmaﬂon Unimolecular) Show correct Lewis
Dot structures & electron pushmmmos not needed (11 pts) 5 /QJL
b CH e
NS S I | e
— +2 - fR—
H g —H +20H C Iy -

* tl b H2O {soivent)
ag

""@




Organic Chemistry TT (CHEM 442) Fall 15 Dr. Hahn's Class MWF 12 noon Quiz I form A Exam #

g~
—

Sign Name Print Name fad

Please show work on all questions for partial credit even on questions which do not specify. (25 pts)

la.  Forthe clement In  show the electron configuration for all valence electrons in the format 1s?, 257,
. etc (2 pts cach letter, 6 pts total)

b. For the same element, show the valence electron configuration orbital diagram in the format:

{ "i l¢ A etc} using up and down arrows to represent electrons.
Is 23

c. For the same element, how many valence electrons is in the atom ?

2. In the molecule below, match the functional group name from the list by filling in the parenthesis with

one of the letters listed. (a) alkene (b)alkyne (c)arene  (d)alkyl halide  (¢) alcohol (f) ether (g)
amine  (h) aldehyde (i) ketone  (j) carboxylic acid (k) ester (1) amide  (m) acid halide (n)
acid anhydride (You may 1 the letters or none of the letters and may use the same letter multiple times) (2

pts each, 4 pts total) g . )
3. Label the following energy diagram with one of the matching letters. (a) reactant  (b) product (c)

transition state (&) intermediate  (You may use ali the letters or none of the letters and may use the same letter
multiple times) (2 pts each, 4 pts total)

Eivm e
4. Complete the followmg reaction mechanism: Electrophilic addition of H Cl to alkene. Show

correct Lewis Dot structures & electron pushing arrows. 3 D drawings not needed (11 pts)

H\_ CHCH, .

C= + B3>
H/ C\H Ny

Extra Credit:  Give the transition state of the Sn2 reaction mechanism for the reaction shown. (2 pts)
ransition state

liI (Y oé @

I{f——-Cu-—-—'Bg % s (OCHj ?

Hs . acetone {solvent)



Organic Chemistry 1l (CHEM 442) Fall 15 Dr. Hahn’s Class MWF 12 noon Quiz I form B Exam #

Sign Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 pts)

1a. For the element Ge  show the electron configuration for all valence electrons in the format 1s?, 2s%,
. etc {2 pts each letter, 6 pis total)

b. For the same element, show the valence electron configuration orbital diagram in the format:
{ ‘\tf' fl etc} using up and down arrows to represent electrons.

Is 28
c. For the same element, how many valence electrons is in the atom 7
2. In the molecule below, match the functional group name from the list by filling in the parenthesis with

one of the letters listed. (a)alkene (b)alkyne (c)arene (d)alkyl halide (e)alcohol (f) ether (g)
amine  (h)aldehyde (i) ketone  (j) carboxylic acid (k) ester  {I) amide {m) acid halide (n)

acid anhvdride (Youma all the letters or none of the letters and may use the same letter multiple times) (2
pts each, 4 pts total)

( T )
3. Label the following energy diagram with one of the matching letters. (a) reactant (b) product (c)

transition state (d) intermediate (You may use all the letters or none of the letters and may use the same letter
multiple times) (2 pts each, 4 pts total)

)
e'/\f/\f{

4. Complete the following reaction mechanism: V]?l (Ehmmatlon Unimolecular} Show correct Lewis
Dot structures & electron pushing arrows. 3 1) drawings not needed (11 pts)
H H3 ot
H—( —H +sOH =
[\4 ‘i é] 3 e H20 (solvent)
ae

Extra Credit:  Give the transition state of the SN2 reaction mechanism for the reaction shown. (2 pts)
DI
(X )

& ©
Cl—C—CICH;  § O;H

acetone (solvent)



